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Questions 9 and 10 refer to the following information.

a = 1,052 + 1.08¢

The speed of a sound wave in air depends on the air
temperature. The formula above shows the relationship
between a, the speed of a sound wave, in feet per second,
and f, the air temperature, in degrees Fahrenheit (°F).

Which of the following expresses the air temparature
in terms of the speed of a.sound wave?
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At which of the following air temperatures will the
speed of a sound wave be closest to 1,000 feet per

second? -
A) —46°F
B) —48°F
C) —49°F
D) -50°F
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Which of the following numbers is NOT a solution
of the inequality 3x—52>4x-3 ?

A) -1
B) -2
C) -3
D) -5

Number of apples

34 =57 6 A 89
Number of seeds

Based on the histogram above, of the following,
which is closest to the average (arithmetic mean)
number of seeds per apple?:

A) 4

B) 5

C) 6

D) 7




poAT [SAT W’awe =1

v .
Questions 9 and 10 refer to the following information.

a = 1,052 + 1.08¢

The speed of a sound wave in air depends on the air
temperature. The formula above shows the relationship
between g, the speed of a sound wave, in feet per second,
and t, the air temperature, in degrees Fahrenheit (°F).

Which of the following expresses the air temparature
in terms of the speed of a sound wave? G657 sl

t=a——l.—10’§.2 —esr ~1oS L

B) ¢ 411,052 Q=452 = Logt
"~ 1.08 ' /0¥ /.o

_1,052-a .

Ot
) 1.08

\

| /. ec
e e

T a+1,052

At which of the following air temperatures will the . N
speed of a sound wave be closest to 1,000 feet per P 3 Woow - /, 05)
second? . 1 :
a~vealue /Jof
A) -46°F e tin e
(B)) -48°F A i g
. - = ge /
C) —49°F / Lf >
D e e T
A

Unauthorized copying or reuse of any part of this page isillegal.

342



11 s . :
Which of the following numbers is NOT a solution
of the inequality 3x—524x-3 ? ~
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